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Me electron mass
h : reduced Planck constant
My proton mass
Abstract ap : Bohr radius

This article is a summary of the develop-
ment of the possibility that the time is quanti-
zed further given, along with the graviton and
angular momentum, for links between par-
ticles and stars. It further believes that all
orbits orbit at the same speed, which is the
highest for phenomena thermodynamic.

1.

Postulate 1.1 In the Universe, maybe only
exactly in their beginnings, there are N si-
milar stars to our Sun (the Sun is a typical
star). Also, in a proton there is N gravitons,
which establish one bijective correspondence
between each graviton and one and only each
star’s proton:
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my mass of the Universe
me solar mass
My mass of a nucleon
Mgr mass of the graviton

The mass of the electron satisfies the follo-
wing equality !:

h
JN_mpao

1See Appendix A about N constant.

(2.1)
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Postulate 2.1 By similarity, the mass of the
graviton is:
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G : gravitational constant
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Mercury orbit

3.

Postulate 3.1 All orbits speed IL. Even the
electrons in the atomic model classic.

4.

Time orbit of a particle on the fundamen-
tal orbit (ag; one in which the particle orbits
speed I) Solar System is the sum of the ato-
mic unit time (7},) [1] contributed by each star
in the universe (each link graviton proton):

T — NT,  2may
0T o T i35 X

In general, for the perceived time from the
surface of a planet is 2

(4.1)
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2Calculating the critical radius of the planet (rg)
under Appendix B.

Thian = (4.2)




Mplan mass of the planet
r : radius of the planet
rg : fundamental radius of the planet

The observed orbital period of a planet is,
then, the fundamental or (4.1) multiplied by
the value < corresponding 3, raised to 3/2:

T =Ty 32, (4.3)

5.

The angular momentum of a nucleon in the
orbit of the solar system is:

Nk
21,135

Wherein all symbols have already been men-
tioned above.

L,=mpag I = (5.1)

6.

Hartree Energy [1] (the classic hydrogen
atom) is given by the mass of graviton speed
Il and the number of stars:

Ed = mgr]IQN.

And the so-called ‘rest mass’ of a nucleon is:

(6.1)
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donde:
my mass of the Universe
ry radius of the Universe

7.

The mean square velocity [2] of an ideal gas

of mass number A is:
[3kT /| 3T
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Where:
T : gas temperature
Ty hartree-kelvin relationship [1]
k : DBoltzmann constant
m : unified atomic mass unit

30n this see Appendix B.

And where we can see that the gas atoms tend
to move at a maximum speed (1), and that
the atoms speed increases with temperature,
but the continuous ‘shocks’ of atoms limit this
speed.



Appendix

A. Getting N constants.

Now show how to obtain a constant for lin-
king the attractions and repulsions between
charges depending on their electric charged
masses. Whereby said constant given therein
come dimensions as the universal gravitatio-
nal constant.

The dimensions of the universal gravitatio-
nal constant are:
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Moreover, the electrical permittivity of va-
cuum dimensions is given in meters divided
Farad:

G =

(A1)
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If we find the inverse of the factor containing
the electric permittivity:
1 kgm?

(A.3)

dmey %82’

Where to obtain dimensions of universal gra-
vitation, multiply by the square of the load
and divided by the product of the masses loa-
ded. That classic hydrogen atom are the pro-
ton and the electron:
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which are those of (A.1).

Then, the constant N, _ of attraction for
loads of different sign, will be:
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Ny_ = m?/(kgs?). (A.6)
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As the load varies module for repulsion bet-
ween protons and electrons is only necessary
to replace their mass in (A.6):
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for positive charges. And:
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for negative charges.

B. Getting the parameters
&

We denote by the symbol < to the rela-
tionship between electromagnetic energy Har-
tree [1] of an atom and its gravitational energy
at a given orbit. Also consider that the energy
Electromagnetic not vary with the orbit, whi-
le the grave itself. And there is also funda-
mental orbit (ag) in which the electromagne-
tic energy is equal to the gravitational. Thus:
= V‘; : (B.1)
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may put the latter in terms of the electrical
and gravitational potential:
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Solving for a for any orbit:
12 V.
= =2 B.4
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and for the fundamental orbit:
t2 v,
=Lt B.5
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if we find the relationship between the above
two equations (B.4 and B.5):
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or what is the same:
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As, for ay = Egpy = Eg = #, then:
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If we now substitute this value in (B.7):

t=tp O VO =1t 02 (B.9)
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Resumen

Este articulo es un resumen del desarrollo
de la posibilidad de que el tiempo esté cuan-
tizado y venga dado, junto con los gravito-
nes y momentos angulares, por enlaces entre
particulas y estrellas. Se considera, ademas,
que todas las érbitas orbitan a la misma velo-
cidad, que es la maxima para fenémenos ter-
modinamicos.

1.

Postulado 1.1 En el Universo, quizd sélo
exactamente en sus comienzos, hay N es-
trellas similares a nuestro Sol (estrella tipi-
ca). Ademds, en un protén hay N gravitones,
los cuales establecen una correspondencia bi-
univoca entre cada graviton y uno y sélo un
proton de cada estrella:

= M (1.1)
me o Mgr
my masa del Universo
me masa, solar
My, masa de un nucleén
Mgy masa del gravitén

La masa del electrén cumple la siguiente
igualdad?!:
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1Ver Apéndice A acerca de las constantes N.

Me =

(2.1)

Me masa del electrén

h : constante de Planck reducida
my masa del protén
ap : radio de Bohr

Postulado 2.1 Por semejanza, la masa del
graviton serd:

h
Myp = —F—e—o. (2.2)
2, /Gmg ay
G : constante de la gravitacion
ay orbita de Mercurio

3.

Postulado 3.1 Todo orbita a velocidad IL.
Incluso los electrones en el modelo atéomico
clasico.

4.

El tiempo de érbita de una particula en
la érbita fundamental (ag; aquella en la que
la particula orbita a velocidad II) del Siste-
ma Solar es el sumatorio del tiempo unitario
atémico (Ty) [1] aportado por cada estrella
del Universo (cada enlace gravitén protén):

Ty — NTu _27ra@
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Con carécter general, para el tiempo percibi-
do desde la superficie de un planeta sera?:

NT, Mplan T
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2Calculando el radio fundamental del planeta (rg)
segun el Apéndice B.

(4.1)

Tpian = (4.2)




Mplan masa del planeta
r : radio del planeta
rg : radio fundamental del planeta

El periodo de érbita observado de un planeta
es, entonces, el fundamental o de (4.1) multi-
plicado por el valor <> correspondiente?, ele-
vado a 3/2:

T =Ty $3/2. (4.3)

5.

El momento angular de un nucleén en la
orbita fundamental del Sistema Solar es:

Nh
21,135

En donde todos los simbolos ya han sido men-
cionados con anterioridad.

L,=myayI = (5.1)

6.

La Energia de Hartree [1] (la de un dtomo
clésico de Hidrégeno) viene dada por la masa
del gravitén, la velocidad IL y el ntimero de
estrellas:

Es =my, I2N. (6.1)

Y la conocida como ‘masa en reposo’de un
nucleén:

Gmy mg,
myc? = N ——2°

(6.2)
Tu

donde:

my masa del Universo

ry : radio del Universo

7.

La velocidad cuadrética media [2] de un gas
ideal de nimero masico A es:

o =1 T =[BT )

3Sobre esto ver Apéndice B.

En donde:

T : temperatura del gas

Ty temperatura de Hartree [1]
k : constante de Boltzman
m : masa del dtomo

Y donde se puede observar que los atomos del
gas tienden a moverse a una velocidad maxi-
ma (1), y que la velocidad de los dtomos au-
menta con la temperatura, pero los continuos
‘choques’ de los dtomos limitan esta veloci-
dad.



Apéndices

A. Obtenciéon de las cons-
tantes N

Mostraremos ahora como obtener unas
constantes que pongan en relacion las atrac-
ciones y repulsiones entre cargas eléctricas en
funcién de sus masas cargadas. De modo que
dichas constantes vengan dadas en las mismas
dimensiones que la constante de la gravitacién
universal.

Las dimensiones de la constante de la gra-
vitaciéon universal son:

m3

G i
kg s2

(A1)

Por otra parte, la permitividad eléctrica del
vacio viene dada en dimensiones de Faradio
dividido entre metro:
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Si hallo el inverso del factor que contiene la
permitividad eléctrica:

1 kgm?

= tgm (A.3)

dmeg ~ q2s?’

en donde, para obtener dimensiones de gra-
vitaciéon universal, hay que multiplicar por el
cuadrado de la carga y dividir por el produc-
to de las masas cargadas. Que en un atomo
cldsico de Hidrogeno seran las del protén y la
del electrom:
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cancelando dimensiones:

1 e m
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que son las de (A.1).
Luego, la constante N _ de atraccién para
cargas del distinto signo, sera:

82

Ni_= m3/(kgs?).  (A.6)
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Como la carga no varia en médulo, para ob-
tener la repulsién entre protones y electrones,
sélo habra que sustituir sus masas en (A.6):

~ 62
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para cargas positivas. Y:

2

~ e
N _ =— " m3(kgs®), (A8
Meomemem/( gs?), (A8)
para cargas negativas.
B. Obtenciéon de los

parametros <

Denotaremos con el simbolo <> a la relacién
existente entre la energia electromagnética de
Hartree [1] de un dtomo y su energia gravi-
tatoria en una érbita dada. Asimismo consi-
deraremos que la energia electromagnética no
varia con la 6rbita, mientras que la grave si. Y
existe, ademds, una 6rbita fundamental (ap)
en la cual la energia electromagnética es igual
a la gravitatoria. Asi pues:

o= Epm e Vs B.1
- Eg myv?’ (B-1)

pudiendo poner esto tltimo en funcién de los
potenciales eléctrico y gravitatorio:

Va
Vp
= — B.2
0=z (B2)
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descomponiendo la velocidad v = :
v,
% 2 (B.3)
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Si despejamos a para una érbita cualquiera:

2 V.
=4/ —= 2 B.4
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y, para la érbita fundamental:
[ t2 Vv,
— 9 Y4 2 B
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si hallamos la relacién entre las dos ecuaciones
anteriores (B.4 y B.5):
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0, lo que es lo mismo:
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Como, para ag = Epy = Eq = —5——, lue-
C” Qg
go:
Gm®
cag a
= = —. B.8
0= fom =2 (B)
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Si ahora sustituimos este valor en (B.7):

t =19/ =19 O (B.9)
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